 EQ x-4y=3 
 EQ x=3+4y 
 EQ x=3+4y 
 EQ x=4y+3 
ответ: .

	 EQ x 
	 EQ y 

	 EQ 4y+3 
	 - любое


2)  EQ xy+2y=9 
 EQ \b\lc\{(\a\al\hs3\vs3(x=\f(9-2y;y);y≠0)) 
 EQ x=\f(9-2y;y) 
 EQ x=\f(-2y+9;y) 
 EQ x=-\f(2y-9;y) 
 EQ 1 .

	 EQ x 
	 EQ y 
	Ограничения для переменных

	 EQ -\f(2y-9;y) 
	любое допустимое
	 EQ y≠0 


 EQ x  - любое

 EQ \b\lc\{(\a\al\hs3\vs3(y=0;9-2y=0)) 
 EQ \b\lc\{(\a\al\hs3\vs3(y=0;9-2·0=0)) 
 EQ \b\lc\{(\a\al\hs3\vs3(y=0;9=0)) 
нет решений

ответ: .

	 EQ x 
	 EQ y 
	Ограничения для переменных

	 EQ -\f(2y-9;y) 
	любое допустимое
	 EQ y≠0 


